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OL REVIEW on Exponents, Prime Factorization,
Order of Operations, Math Properties, Variables and Expressions
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1. How would you write “theﬁ\quotigjﬁ of
8 and m” as an algebraic expression?
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2. List three verbal expressions for each
of the following operations:
Addition—'tD'l'a.[ , oupN,

in ol , oldooethor
Subtraction- d?ﬁ{-\m’m ;
Multiplication- MG
iplication P‘:Dml—w\
‘mes,
Division-CIL(JL.G’C.LI’JIC,C= S\;)\'k\-
N Xy

3. Generate an equivalent expression
using the order of operations. (You
should get the same answer for both
problems.)

L=m

15 + [20 - (24+8)% + 4]
15+[20 - 3%+ 4
15+ [20-T + 4]
15 + [t
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[7(2+4) + 2] + 3?
[©-0+3"
[d2= 1]+51
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4. Nathan reads_g_page@ day of a
400-page book. Write an algebraic
expression to show many days it will
take Nathan to read the book?
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5. Write tdl'\lsemfgyowmg in eg‘ﬁ(c)nentral
and staridard form.
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6. Solve the following:

32+ 2% + 42
21+ b+ 3
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7. W)r(ite each phrase as an expression.

s|triple less than]4 —3

[4

L

: t
thelquotient .of tand 59 C’Fj:,-':a

Thelsumiof 12 and m lz +

20 subtracted from b [} —Z0

A -1 2
five|squareg added|to 7 5"'_—]_

nE —l‘l' 52




8. Determine whether the two
expressions are equivalent. If so, tell
what property is applied.
Associative, Distributive,
Commutative, Identity, or Inverse

3e1=3
s 'gé
(2e5)e7=20e(507)

Ues ¢
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5(x + 3) = 5x + 15

o dsklnd

14-(7-2)=(14-7) -2

no

12+ 15 =15+ 12

Lffjs 3 ommudative

9. Evaluate each of the following

expressions given:
a=-7 b=2 and c=4

b+a= -5
a+(-1)

8c-a=_ Z)E!
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12c+4a—.2b— - Hg)

T 2 (KD — 22

- g+ (280 — 4
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10. Using the distributive property,
write an equivalent expression.

gji\é)=bn+5%

m)=bm—5

(3@ = \5;{3 2l ()

3 Y- [20-13
J

(7@ 28X % %%
-2(4r + 3h) ="Yr‘ = lﬂh

m3) Y + 21

11. Elaina made 3 baskets on Tuesday
and 3 baskets on Saturday. Sophia
made 5 baskets on Tuesday and 5
baskets on Saturday. Which expression
is equivalent to the pictorial model?

Tuesday

3 baskets 5 baskets

5 baskets

Saturday 3 baskets

.3+3+5+5

35
C 2e3+5

D (2e3)+5



12. Which expression is NOT equivalent
to3 e 7% 117

F3e787s11V

G 11e7+3e7/ 512“

[ ] @ 11% ol

J 3-11-72\/

13. Write the prime factorization using
exponents for the following numbers.

14. Simplify each expression by
| combining like terms]

6x+2(x@l)+10 = %X"‘ZJ

[exf 224 1D

4x—2y+?f($x-—\)'/) = I&"‘5%
23} 2xK3y)

my) - 7X + 4y = g& -‘-\ﬁ"k
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lode Yol 29) = x22y

15. Generate an equivalent expression

using the stated property.
rxumb s OINAL, (AL
Commutative property of addition

5+(2+9)=(7_-+q)+5

Toulp C}’\o_n.r\?SE, e hL;:t'f?\‘T,‘JfLL,:g
Associative propefty of addition

a+(b+c)=(g + by C

oSites
In\%PsEproperEy of addition

4+ (¢-4)=0

NS \.'“;'Ei}s:i.-' Clhhaunog O OA”
Commutative property of multiplication
9:.6=_09

micrpe o
Identity property of multiplication

Fu 1=]5




